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7XMXDQ� SHQHOLWLDQ� LQL� DGDODK� XQWXN� PHPEDKDV� WHQWDQJ 3HQLODLDQ�
.HSXDVDQ� 3HODQJJDQ�7HUKDGDS� �6HUYLFH 0RWRU�<DPDKD� SDGD�&9�� 7MDKDMD�
%DUX�&DEDQJ�6LWHED�3DGDQJ� 3HQHOLWLDQ�LQL�PHQJJXQDNDQ�PHWRGH GHVNULSWLI�
\DLWX SHQHOLWLDQ� \DQJ� GLODNXNDQ� XQWXN� PHQJHWDKXL� QLODL� YDULDEHO� PDQGLUL��
EDLN� VDWX� YDULDEHO� DWDX� OHELK� �LQGHSHQGHQ�� WDQSD� PHPEXDW� SHUEDQGLQJDQ�
DQWDUD�YDULDEHO�VDWX�GHQJDQ�YDULDEHO�\DQJ�ODLQ�

+DVLO� GDUL� SHQJRODKDQ� GDWD� GDSDW� GLOLKDW� EDKZD� WHUGDSDW� OLPD�
LQGLNDWRU� \DQJ� GLJXQDNDQ� XQWXN�PHQJXNXU�.HSXDVDQ� 3HODQJJDQ� 7HUKDGDS�
6HUYLFH 0RWRU� <DPDKD� 3DGD� &9�� 7MDKDMD� %DUX� &DEDQJ� 6LWHED� 3DGDQJ��
,QGLNDWRU� SHUWDPD� \DLWX� NHDQGDODQ� �5HOLDELOLW\�� PHPSHUROHK� SHQLODLDQ�
GHQJDQ� NDWHJRUL� EDLN�� LQGLNDWRU� NHGXD� WDQJJDSDQ� �5HVSRQVLYHQHVV��
PHPSHUROHK�SHQLODLDQ�GHQJDQ�NDWHJRUL�EDLN��LQGLNDWRU�NHWLJD��\DLWX�MDPLQDQ�
�$VVXUDQFH��PHPSHUROHK�SHQLODLDQ�GHQJDQ�NDWHJRUL�EDLN��LQGLNDWRU�NHHPSDW��
\DLWX� HPSDWL� �(PSKDW\�� PHPSHUROHK� SHQLODLDQ� GHQJDQ� NDWHJRUL� EDLN� GDQ��
LQGLNDWRU� \DQJ� NHOLPD� \DLWX� EXNWL� ILVLN� �7DQJLEOH�� PHPSHUROHK� SHQLODLDQ�
GHQJDQ NDWHJRUL EDLN�
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